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  Written Exercise 10:  
Translate the following Greek text into correct English (92 answers):
oJ Pau'lo" e[grayen tw/'   jAndronivkw/ o&ti aujto;" pollavki" ejspouvdaze pro;" th;n   JRwmh;n ejlqei'n: oJ ajpovstolo" hjqevlhsa qevasqai aujtou;" kai; metadou'nai met  j aujtw'n th;n ijdivan cara;n tou' e[rgou tou' ejn th/' Galativa/. mevcri tou' nu'n e[dei to; to;n Pau'lon ejn th/' Galativa/ mevnein dia; tou;" yeudodidaskavlou" oi^ e[trecon kurieuvein tw'n Galatw'n kai; metastrevyai to; eujaggevlion tou' Cristou'. ejpi; polu; ou|toi oiJ a[nqrwpoi ejspouvdazon qei'nai eJautou;" despovta" ejn ta;" Galatika;" ejkklhsiva". eij kai; aujtoi; ei\pon ei\nai eJautou;" douvlou" tou' Cristou', oujk h\san ejn ajlhqeiva/ sugkoinwnoi; ejn tw/' eujaggelivw/.

th;n ajlhvqeian de; tou' eujaggelivou ajphvggellen spoudaivw" oJ Pau'lo" ejnwvpion tou' laou' kai; ei\pen,  JO   JIhsou'" oJ kuvriov" ejsti; kai; aujto;" e[dwken eJauto;n uJpe;r tw'n aJmartiw'n hJmw'n. au&th hJ ajggeliva oujk e[stin kata; a[nqrwpon, ajll j e[rcetai ajpo; tou' qeou' aujtou'. 

Parse the following words according to the appropriate model (56 answers):
oJ Pau'lo"(7 answers): Proper Name - Nom (_______) - M - S - Pau'lo", oJ - Paul        
e[grayen(8 answers): 1 Aor (_______) - Act - Ind - 3 - S - gravfw - ______________    
tw/'   jAndronivkw(7 answers): Proper Name - Dat (_______) - M - S -  jAndrovniko", oJ - to Andronicus        
o&ti(4 answers): subordinate conjunction introducing a conjunctory substantival _______dependent clause - _______   
aujto;"(10 answers): Pers Pron - Nom (Subj) - M - S - aujtov", -hv, -ov - he        
pollavki"(1 answer): Adverb of time - often, many times          
ejspouvdaze(8 answers): _______ (Iterative) - Act - Ind - 3 - S - spoudavzw - he had tried, endeavored      
pro;" th;n   JRwmh;n(7 answers): ______________ - Acc (Place/Measure) - F - S -  JRwmhv, hJ - to Rome 
ejlqei'n(8 answers): 2 Aor (Const) - Act - Infin (S: _______) - e[rcomai - to come        
oJ ajpovstolo"(7 answers): 2 - Nom (Subj) - M - S - ajpovstolo", oJ - the apostle       
hjqevlhsa(8 answers): 1 Aor (Const) - Act - Ind - 3 - S - qevlw - ______________ 
qevasqai(8 answers): Pres (Desc) - _______ - Infin (S: Obj) - qeavomai - to see, visit        
aujtou;"(10 answers): Pers Pron - Acc (_______) - M - P - aujtov", -hv, -ov - _______     
kai;(1 answer): coordinate conjunction connecting two infinitive phrases as equal elements - and  
metadou'nai(8 answers): 2 Aor (_______) - Act - _______ (S: Obj) - ______________ - to share   
met  j aujtw'n(10 answers): Pers Pron - Gen (_______) - M - P - aujtov", -hv, -ov - with them        
th;n ijdivan(10 answers): Poss Adj (Attrib) - Acc - F - S - i[dio", -iva, -on - ______________      
cara;n(7 answers): 1 - Acc (Dir Obj) - F - S - carav, hJ - his joy        
tou' e[rgou(8 answers): 2 - Gen (Desc/Ref) - N - S - e[rgon, tov - about/over his work        
tou' ejn th/' Galativa(7 answers): Geographical Name - Loc (Place) - F - S - Galativa, hJ -______________
mevcri tou' nu'n(1 answer): Adverb of time - until now     
e[dei: Impers Verb with Durative Imperfect - dei - it had been necessary 
to;n Pau'lon(7 answers): Proper Name - Acc (_______) - M - S - Pau'lo", oJ - Paul         
ejn th/' Galativa(7 answers): Geographical Name - Loc (Place) - F - S - Galativa, hJ - in Galatia 
to;...mevnein(8 answers): Pres (Desc) - Act - Infin (___: _______) - mevnw - to remain        
dia; tou;" yeudodidaskavlou"(7 answers): 2 - Acc (_______) - M - P - yeudodidavskalo", oJ - because of the false teachers        
oi^ (13 answers): Rel Pron - Nom (Subj) - M - P - o&", h&, o& - introducing Relative Adjectival dependent clause - who        
e[trecon(8 answers): _______(Desc/Dur) - Act - Ind - 3 - P - trevcw - they were/had been trying        
kurieuvein(8 answers): Pres (Desc) - Act - Infin (S: _______) - kurieuvw - to rule over, lord it over        
tw'n Galatw'n(7 answers): Geographical Name - Gen (_______) - M - P - Galavth", oJ - over the Galatians        
kai(1 answer): coordinate conjunction linking two infinitival phrases - and         
metastrevyai(8 answers): 1 Aor (Const) - Act - Infin (S: Obj) - ______________ - to alter, change        
to; eujaggevlion(7 answers): 2 - _______ (Dir Obj) - N - S - eujaggevlion, tov - the Gospel        
tou' Cristou'(7 answers): 2 - Gen (Poss/Ref) - M - _____ - Cristov", oJ - of/about Christ        
ejpi; polu: Adverbial temporal idiom - for some time          
ou|toi(9 answers): _______ Pron - Nom - M - P - ou|to", au&th, tou'to - _______     
oiJ a[nqrwpoi(7 answers): 2 - Nom (_______) - M - P - a[nqrwpo", oJ - these men        
ejspouvdazon(8 answers): Imperf (_______) - Act - Ind - 3 - P - spoudavzw - they had been endeavoring        
qei'nai(8 answers): 2 Aor (Const) - Act - Infin (S: Obj) - ______________ - to place, make        
eJautou;" (10 answers): _______ Pron - Acc (Dir Obj) - M - P - eJautou', -h'", -ou' - themselves        
despovta"(7 answers): 1 - Acc (______________) - M - P - despovth", oJ - masters, rulers        
ta;" Galatika;"(9 answers): Geog Adj (_______) - Loc - M - P - Galatikov", -hv, -ovn - among the Galatian (churches)        
ejn...ejkklhsiva"(7 answers): 1 - Loc (_______) - F - P - ejkklhsiva, hJ - among the Galatian churches    
eij kai(4 answers): subordinate conjunction introducing conjunctory adverbial (logical) ______________ dependent clause - ______________ 
aujtoi;(10 answers): Pers Pron - Nom (Subj) - M - P - aujtov", -hv, -ov - they        
ei\pon(8 answers): 2 Aor (_______) - Act - Ind - 3 - P - levgw - they say, claim to        
ei\nai(7 answers): Pres (Desc) - Infin (S: Obj) - eijmiv - to be, that they are        
eJautou;"(10 answers): Reflex Pron - Acc (_______) - M - P - eJautou', -h'", -ou' - they        
douvlou"(7 answers): 2 - Acc (_______) - M - P - dou'lo", oJ - servants        
tou' Cristou'(7 answers): 2 - Gen (Poss) - M - S - Cristov", oJ - of Christ         
oujk h\san(7 answers): Imperf (Desc) - Ind - 3 - P - eijmiv - they were not        
ejn ajlhqeiva(7 answers): 1 - Ins (Manner) - F - S - ajlhvqeia, hJ - in truth, actually, genuinely        
sugkoinwnoi;(7 answers):  2 - Nom (_______) - M - P - sugkoinwnov", oJ - partners, participants       
ejn tw/' eujaggelivw(answers): 2 - Loc (Sphere) - N - S - eujaggevlion, tov - in the Gospel        
th;n ajlhvqeian (7 answers): 1 - Acc (_______) - F - S - ajlhvqeia, hJ - the truth

de: postpositive coordinate introducing a somewhat contrastive independent clause - now, but, and         
tou' eujaggelivou(7 answers): 2 - Gen (Desc)/Abla (Source) - N - S - eujaggevlion, tov - of/from the gospel        
ajphvggellen(8 answers): _______(Desc/Incep) - Act - Ind - 3 - S - ajpaggevllw - he was/began to proclaim        
spoudaivw" (1 answer): adverb of degree - ______________
oJ Pau'lo"(7 answers): Proper Name - Nom (Subj) - M - S - Pau'lo", oJ - Paul        
ejnwvpion tou' laou'(7 answers): 2 - Gen (_______) - M - S - laov", oJ - ______________
kai;(1 answer): coordinate conjunction connecting two independent clauses - and         
ei\pen(8 answers): 2 Aor (Const) - Act - Ind - 3 - S - levgw - ______________
  JO   JIhsou'"(7 answers): Proper Name - Nom (Subj) - M - S -  jIhsou'", oJ - Jesus        
oJ kuvriov"(7 answers): 2 - Nom (_______) - M - S - kuvrio", oJ - Lord        
ejsti(7 answers): Pres (Desc) - Ind - 3 - S - eijmi - he is         
kai;(1 answer): coordinate conjunction connecting two independent clauses - and          
aujto;"(10 answers): Pers Pron - Nom (Subj) - M - S - aujtov", -hv, -ov - he        
e[dwken(8 answers): 1 Aor (Const) - Act - Ind - 3 - S - ______________ - he gave        
eJauto;n(10 answers): Reflex Pron - Acc (_______) - M - S - eJautou', -h'", -ou' - himself        
uJpe;r tw'n aJmartiw'n(7 answers): 1 - Gen (_______) - F - P - aJmartiva, hJ - for our sins        
hJmw'n(7 answers): Pers Pron - Gen (Poss) - P - ejgwv - our        
au&th(10 answers): Demon Pron - Nom - F - S - ou|to", au&th, tou'to - this        
hJ ajggeliva(7 answers): 1 - Nom (Subj) - F - S - ajggeliva, hJ - this message        
oujk e[stin(7 answers): Pres (Desc) - Ind - 3 - S - eijmi - it is not        
kata; a[nqrwpon(7 answers): 2 - Acc (Ref) - M - S - a[nqrwpo", oJ - according to man, of human origin         
ajll j(1 answer): coordinate conjunction introducing strongly contrastive independent clause - but         
e[rcetai(8 answers): Pres (Desc) - Dep - Ind - 3 - S - e[rcomai - it comes        
ajpo; tou' qeou'(7 answers): 2 - Abla (Source) - M - S - qeov", oJ - from God        
aujtou'(10 answers): _______ Pron - Abla - M - S - aujtov", -hv, -ov - himself        
Decline the following nouns and noun derivatives according to the appropriate model (42 answers):
The singular and plural forms of i[dio", -iva, -ovn(24 answers):
Singular:
Masculine
Feminine
Neuter



Nom


Gen/Abl


Dat/Ins/Loc


Acc


Plural:

Nom


Gen/Abl


Dat/Ins/Loc


Acc


Third Person Reflexive Pronoun eJautou', -h'", -ou'(18 answers):

Singular (himself, herself, itself):

Nom 
-----------
------------
---------

Gen/Abla


Dat/Ins/Loc


Acc


Plural (themselves):

Nom
-----------
------------
---------

Gen/Abla


Dat/Ins/Loc


Acc

Block diagram the above text according to the guidelines (10 answers):
(A)
oJ Pau'lo" e[grayen tw/'  jAndronivkw/ 







         Pollavki"



                                                                                   pro;" th;n  JRwmh;n 






  o&ti aujto;"...ejspouvdaze...ejlqei'n:

(B)
oJ ajpovstolo" hjqevlhsa qevasqai aujtou;" 





 kai; 




       metadou'nai...th;n ijdivan cara;n 





 met j aujtw'n 
      tou' e[rgou








                 tou' ejn th/' Galativa/.


     mevcri tou' nu'n            ejn th/' Galativa/  

(G)
e[dei to; to;n Pau'lon...mevnein 




           dia; tou;" yeudodidaskavlou" 






    oi^ e[trecon kurieuvein tw'n Galatw'n 








 kai; 







       metastrevyai to; eujaggevlion 










                                     tou' Cristou'.




        ejpi; polu; 

(D)
ou|toi oiJ a[nqrwpoi ejspouvdazon qei'nai eJautou;" 






      despovta" 





             ejn ta;" Galatika;" ejkklhsiva".



eij kai; aujtoi; ei\pon 





 ei\nai eJautou;" douvlou" tou' Cristou',

(E)
oujk h\san  .     .     .  sugkoinwnoi; 



ejn ajlhqeiva/       ejn tw/' eujaggelivw/.



de;

(Z)
th;n ajlhvqeian tou' eujaggelivou ajphvggellen...oJ Pau'lo" 





          spoudaivw" 





          ejnwvpion tou' laou'



kai; 
(I)
ei\pen, 

 (1)

 JO  JIhsou'" oJ kuvriov" ejsti; 




kai; 

 (2)

aujto;" e[dwken eJauto;n 




   uJpe;r tw'n aJmartiw'n hJmw'n. 

 (3)

au&th hJ ajggeliva oujk e[stin 





         kata; a[nqrwpon, 




ajll j 

 (4)

---- - ------- e[rcetai 




       ajpo; tou' qeou' aujtou'. 
Questions to answer from the Block Diagram:
____
1.
The connector between statements (A) and (B) is an instance of asyndeton.




a)
True
b)
False

____
2.
The o&ti-clause in statement (A) is the _____ of the verb e[graysen




a)
Indirect Object
b)
Direct Object
c)
adverbial modifier

____
3.
The protasis in statement (E) is




a)
a doubtful concessive dependent clause.




b)
first class conditional dependent clause.




c)
logical concessive dependent clause.


4.
Explain the implied assumption in the protasis of statement (E), as well as its connection to the apodosis.

____
5.
Which of the adverbial modifiers in statement (Z) expresses location?


a)
spoudaivw"
b)
ejnwvpion tou' laou'
____
6.
The coordinate conjunction de between statements (E) and (Z) 




a)
links the two statements as continuous with no relationship between them.




b)
sets up statement (Z) as contrastive to statement (E).




c)
introduces statement (Z) as the basis for statement (E).


7.
Explain the inner relationships among statements (1) - (4), especially noting the connectors kai; and ajll j (4 answer value).

********************GRADE CALCULATION********************
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